General

- Look for, and Bring out where SL comes into questions (esp Qu. 3).

Two theories of torts:  

1) Tort law is about Fairness/Corrective Justice.  D immorally injured P, and must correct that wrong.  

2) Economical.  Tort law is about maximizing wealth by giving people incentive to act responsibly.  

Geistfeld: 1 properly understood is consistent with 2.  

Ch. 1: Intentionally Inflicted Harm: The Prima Facie Case and Defenses

G: Intentional torts replaced “self-help revenge.”

Intent:  Substantial certainty of harmful contact is sufficient to satisfy intent.  What D says he intended is irrelevant.  We want an objective criterion.  

- There’s a difference between statistical injuries and identified injuries here: Coke can be substantially certain that 1 in 100,000 people will be injured, but not be held for intentionally injuring anyone.  

Transferred Intent:  A intends to hit B, but hits C.  A is responsible for intentionally hitting C.  But there must be 1) a high chance that the latter event will happen, and it must be 2) a “direct and immediate” event.  Note: “Don’t use Tr. Int. in exams; use N.”

Battery:  

Trespass is like battery for your property; you have an exclusive interest in your body and your property.

With trespass, what matters is that you’re at a place x intentionally, not that you know you’re on someone else’s land.  Intentionally commiting an act that is tortious renders you liable for any consequences.  So intentionally walking onto land that you don’t realize isn’t yours can lead to heavy liability.  

Conversion:

False Imprisonment:

Consent:  The most important defense for battery.  Consent under fraud, duress, or mistake is nullified.  HIV could be fraud or mistake, depending on whether D knew (?).  If there is a law intended to prevent harm to, say, boxers, they cannot consent to its being broken, since the law was written in the knowledge that boxers would consent for the wrong reasons - ego, unrealistic assessment of their chances of winning.  Torious liability for injuries caused will only dissuade boxers if they think they’re going to win. 

Implied Consent:  The playground.  Taking part in activity implies consent to [face the foreseeable (?) risks inherent in such activities].  Minors can consent if they can understand the choice being made.  You could argue that you only consented to the game as played within the rules, but that’s not really determinative of what was consented to.  Lawsuits will happen where parties have different ideas of the level of consent implied.  Usually courts will find for Ds, to prevent such suits.

Physical Harms

(Battery and Consent)

Vosberg v. Putney:  D taps P on the knee across the aisle in school.  P bizarrely loses leg as a result.  V to P.  Assault (1. Intent to cause offensive contact and 2. Apprehension of such contact.) and Battery: (1. Intent to effect some offensive/harmful contact or other with another, and 2. some offensive/harmful touching of another).  Here the contact is offensive because it is illegal in the classroom context.  This case shows that you’re liable for all harm, including unforeseeable harm, from intentionally tortious contact.  The defense lawyer screwed up - he should have said that leg taps are absolutely socially acceptable (not that D impliedly consented).

Mohr v. Williams:  Doctor hired to operate on left ear, finds right ear to be in worse condition, and operates on it instead.  P brings assault and battery, claiming hearing loss.  Assault and battery.  Lack of unlawful intent makes it not criminal a+b.  There was consent, but not for a right ear operation.  Motive and consequences are irrelevant to whether there is a+b.  There was no emergency here - waiting would not expose P to risk.

Hudson v. Craft:  Boxing case.  1st Restatement §61: Where it is a crime to inflict a particular invasion of an interest of personality upon a particular class of persons, irrespective of their assent, and the policy of the law is primarily to protect the interest o such a class of prsons from their inability to appreciate th consequences of such an invasion, and it is not solely to protect the interests of the public, the assent of such a person to such an invasion is not a consent thereto.  A promoter can commit assault - by intentionally bringing about a situation in which harmful contact is substantially certain.  

Canterbury v. Spence

(Nonconsensual Defenses)

Insanity:

McGuire v. Almy:  Insane woman attacks nurse, perhaps thinking she was not really harming her.  Motive is irrelevant to assault and battery, so long as contact is intentional.  This rules in actions of  the insane, but rules out epileptics.  Policy reasons: (1) Defendants won’t claim to be insane (2) The plantiff is still injured whether or not D is insane (and possibly wealthy), (3) Caretakers should have motivation to properly care for the insane.

Self-defense:  People will defend themselves with or without a law “banning” it.  But it is better for society if people resort to self-help only where it will be a net gain over the inadequate legal remedy - that is, only when it is in response to an immediate threat.  When you have a reasonable belief that you’re in danger of serious bodily harm, then you’re warranted in using the lowest amount of force sufficient to repel the attack.  

Defense of 3rd parties:  If the use of force here was reasonable, then the innocent victim can’t recover vs. the intervener.  Note: This is a N vs. SL problem.  Attacker wasn’t N, but should he be strictly liable for his actions?  (CO: Is it that 3rd party intervention is on the balance a net good, so we don’t want to discourage it via SL?)

Defense of Property

Land defense: D must ask P to leave, then can use reasonable force to make them leave.  You can’t cause personal injury to protect property.  (CO: The principle is the same here as with self-defense.)  Grey areas are where property is fused with a person’s identity - i.e. where D’s life’s artwork is at stake.  You still have tort rights even if you are violating someone else’s property.  

Q: Is retreat required to protect the assailant’s person?  In Montana, this would harm D’s person, so no.  In NYC, yes.  

Bird v. Holbrook:  Notice must be given before employment of a destructive engine in defense of property.

Recapture of Chattels:  Right of property without possession is not grounds for resort to force.  Only “immediately” after it is taken can force be used to recapture it.  Again, this is in effort to balance self-help benefits vs. the increased use of force in society.  

Necessity:  If the only alternatives (by an objective standard) are risk of [death, physical injury or loss of valuable property] and trespass, trespass is OK.  A snowstorm in Vermont permits you to enter someone’s house whether they want you or not (though they are not obligated to actively rescue you).  You can take personally important property from them if you reasonalbly didn’t know it was important.  You must pay for the consequences of your use of the property, though (Vincent); a starving man may take food to eat, but is responsible for its cost.

Destruction of property necessary for public good: If there’s a public necessity like a fire which necessitates distruction of  a home in order to protect other homes, a homeowner has no right to compensation.  (Contrast with the right of compensation for necessary damage to property by a private actor.)  Dist: 1) There’s no need to create an incentive for private actors to maximize value saved by protecting their own property.  2) There’s an easily identifiable benefitting party (the trespassee, vs. an unidentifiable number of other houses).  [Dist: Decisions about building a highway should maximize value, therefore compensation is appropriate.  Decisions about building a highway to get troops to a war should not, so no compensation is necessary.]

Communal property:  On a ship, all property becomes communally owned, so rational choices will be made as to what property to throw overboard.  

Emotional and Dignitary Harms

Emotional harms: Fraud is a big concern here.

Assault:  This tort recognizes that there can be harm without physical injury.  Assault requires D’s intention to put P in apprehension of imminent offensive/harmful contact, and the appearance of an immediate threat.  (“If false statement x were true, then I’d attack you” is not enough.)  If D knows that P has an irrational fear of shaking hands, he can assault him by intentionally putting P in apprehension of his imminently doing so.  The limitation of immediacy is whether you can go get help from the police (balance self-help with minimization of unnecessary violence).  Note: The very brave can still be assaulted; fear is not necessary, just apprehension of the possibility of imminent offensive/harmful contact.  Assault is possible even where self-defense is easy for P, because D has no right to force P to defend himself.  Assaults are certainly possible with unloaded guns, unless P knows they’re not loaded.    If I’m asleep, I can be battered without being assaulted.  

Offensive Battery:  Face spitting.  The harm involved here is not physical, but rather harm to dignity.  There’s offensive contact, not harmful contact.  Context (in private vs. in a courtroom) will be relevant to damages, but not to whether there has been a tort.

False Imprisonmnent:  1) D acts intending to confine P within boundaries fixed by D.  2) D’s actions result indirectly or directly in such confinement. 3)  P is (a) conscious of or (b) harmed by the confinement.  The imprisonment needn’t be physical.  Threatening one’s family if one leaves can suffice.  Imprisonment on a yacht is still imprisonment.  Shoplifting cases must balance D’s rights to protect his property with right to freedom of movement; it’s all reasonableness.

Intentional Infliction of Emotional Distress: Extreme and Outrageous Conduct  2nd Rest §46:  The conduct causing the injury must be “extreme and outrageous”, and the emotional distress must be “severe”.  There’s a worry about fraudulent claims of emotional distress, so the bar is high.  But outrageous speech can fairly be limited.  Wilkinson v. Downton: Practical joke results in nervous shock and physical harm to the defendant, and transportation costs.  The transportation costs open the door for the emotional damages.

Ch. 2. Strict Liability and Negligence: Historic and Analytic Foundations 

Negligence vs. Strict Liability:  Only matters in cases where neither party is at fault.  When the N inquiry has evidential limitations, SL will apply; SL is a response to an evidentiary problem.  

Brown v. Kendall:  P hits D in the eye while trying to separate their fighting dogs.  Contact was not intentional, so no assault and battery.  Injury was accidental and D was not N, so no recovery.  In Vosberg, the intended act was deemed illegal and thus tortious, and thus the damage that came of it was D’s responsibility; here, the act was not N and thus not tortious, so the damage that comes of it is not D’s responsibility.  [In unwitting trespassing, the harmful action is intentional, although it is not known to be harmful; here the contact was entirely unintentional.]

N (vs. SL) is generally favorable to business, because the cost of no-fault injuries go to the victim.  But remember that businesses can be victims too.   

You’re SL for the results of intentional torts.  

The appeal of SL is protecting P’s security.  But a line will have to be drawn at some point, or Ds will be held liable when their acts lead to completely random injuries. e.g. A detains B with a question, then B gets hit by a car.  So N will have to come into the picture at some point.  

Fletcher v. Rylands:  D’s reservoir non-Nly floods P’s property.  

A)Foreseeable harm:  One way to limit liability for non-negligent harms.  This rules out the detaining leading to car accident kind of liability.  This prevents D from unfairly having to insure P.  

Q: Which party is the better insurer against no-fault injuries?  Businesses can spread costs between themselves and consumers.  [CO: But Geist argues that now individuals are the better insurers.]

B) Natural vs. Non-natural result: Another possible limit on liability for non-negligent harms. (CO - Is this usefully different from foreseeable?)  Can be construed as common vs. uncommon - so if reservoirs are common (as water towers are in Texas vs. in England), then there’s not SL for harm they cause.  (Geist seems to suggest that “natural” activities are non-uncommon-and-dangerous activities.)

C) Uncommon, Dangerous Activities:  A third possible limiton liability for non-negligent harms.  This is pretty much the proposed 3rd Rest rule.  The rule became that D was liable for harms caused by particularly dangerous activities he engaged in.  This creates the incentives desirableto society: if the benefits of an uncommon, dangerous activity can pay for the costs it causes, then fine.  If not, then discourage it by making it uneconomical.  The people best placed to make this decision are made to make it.  Powell v. Fall: Bring dangerous things like locomotives on to your land at your own peril of paying for their harms.  (CO: What about socially desirable, uncommon, dangerous activities - don’t they have to overpay for injuries on this theory, since they’re providing a good service to society, yet also footing all the bills for it?)  What is common is relevant here; driving a car is a very dangerous activity, but it is common enough that the risks are reciprocally shared.  So we can use a N standard.  On this argument, if the risks aren’t reciprocal, then SL should be applied.  

Absolute Liability:  You’re liable for all harms that you cause (including the conversation -> car accident cases).  

A Foreseeability Limit is necessary to avoid having D liable in such conversation cases.  The limits that reasonalble foreseeability puts in place are rationally motivated: It limits liability to things you reasonably should have taken into consideration when you acted.  Responsibility should be for choices you made, not actions you took.  

vs. Enterprise liability: Geist: Two of the main arguments for EL are wrong because: (1) The tort system is a lousy 3rd party insurance system (too much money ends up going to lawyers), and (2) It’s a lousy way of redistributing wealth (It is supposed to redistribute by having the poor and the rich insure each other, but it costs more to insure the rich, because they have huge wages at stake.  And it also involves paying lawyers again).  

[Note: Posner’s argument (?) that economic and corrective justice theories of tort are incompatible is wrong, because both are incomplete, because neither take into account the initial distribution of wealth prior to the transaction (see notes 9/12/00).] 

Stone v. Bolton:  Cricket.  There’s no real negligence here, since the cricket club took sufficient care.  Cricket is a natural activity, because it is not a dangerous activity.  No N here; remedial measures were too burdensome to justify elimination of the risk (whatever the actual verdict was).

Negligence is just a risk/cost of remedial measures balance.  

Hammontree v. Jenner:  P at work in a store hit by car.  No N.  P sues on SL.  P: only D knew about the problem, so D is the best insurer, “just like product liability.”  No recovery.  Geist: This is consistent, since SL is and should be used to combat evidentiary problems - not because the plaintiff is the best insurer.  

SL vs. N:  The difference between these is cases where D was not N, but injured.  These are no-fault injuries.  

SL raises the cost of an activity and gives D a reason not to engage in it.  

SL makes the injuries I cause to others injuries I cause to myself.  

SL will deter activities that we think are really N as a class, but in which the evidence that N has occured in a given case is weak.

Geistfeld: N concerns how someone conducts themselves while engaged in an activity; SL concerns whether one should be engaged in an activity at all.  

With N, the necessary standard of care is determined by the court; with SL, it is determined by the business.

The causation inquiry is treated differently under N vs. SL.  [N asks, what would have happened with no N?]  

3.The Negligence Issue

Negligence Elements: Duty, Breach, Cause, Damages.  

The Reasonable Person

Who the reasonable person is will be largely determinative of what counts as N.  [How do we decide how objective the standard is?]

SL is appropriate where we want to discourage a person from engaging in an activity at all.  

Vaughn v. Menlove:  P wants a subjective standard: “standard of care reasonable for a stupid person.”  If we had different standards of care for all different Ds, then potential Ps wouldn’t know what to expect from the world.  So if D fails to conform, he’ll just have to compensate.  Why should the injurer set the terms of the relationship with the victim?

Geist: N vs. SL comes into this here.  We hold people SL for those activities which we think individuals shouldn’t be engaged in.  *Stupid people are essentially held SL for injuries that they tried their best to prevent, but couldn’t manage to only because they are so stupid - that is, injuries that fall in the “no-fault box.”  When you’re faced with a situation where your stupidity puts you at risk, avoid it.  

Roberts v. Ring:  P wants a subjective “standard of care for an old man driver.”  This injury is in the “no-fault box.”  Old man should be held to an ordinary man standard for driving in a crowded area, whereas the kid should be held to a kid standard for playing in the street.  We want to discourage the former activity, not the latter.  The old man, like the stupid man, should be accountable for engaging in that activity at all.

Breunig v. American Family Insurance:  Woman has a foreseeable delusion that she must follow Batman; crash.  If the delusion had been totally unforeseen, then the activity would be one we don’t mind her engaging in.  But it wasn’t, so we do, so she’s liable.

Fletcher v. City of Aberdeen:  P wants a subjective “blind man standard of care.”  We don't want to discourage blind people from walking around, so we impose a lower standard of care.  Duty to watch out for the blind therefore imposed on the construction workers.

Offensive jokes are evaluated on a reasonable woman standard.  Message:  If you don’t know whether an activity is offensive, don’t do it.  

Calculus of Risk 

Dist: The naive theory of behavior under law vs. The Cost Benefit theory of behavior under law.  

The latter realizes that even with SL, injuries caused by activities inside the “no fault box” won’t be prevented, because it won’t be economically worth it.  Geist: The disconnect between these two theories is smaller than some say it is.  

B<PL: Burden of eliminating risk < Probability of injury x Magnitute of Loss Threatened

- B is the cost of the untaken precaution.

- In calculating risk, we do so objectively, and therefore ignore the bizarre pleasure D gets out of speeding up a city street.  

- Part of this balance is that saftey matters more than money.  But life doesn’t always beat money: 

A skyscraper worker makes a life for money tradeoff, as does a speeder, and this is not inconsistent with saying that he wouldn’t trade certain death for any amount of money.  

*The Un-Taken Precaution:  To show Negligence, P must provide a precaution that D could have taken that would have eliminated the risk at a cost that made that elimination worthwhile.   

Sometimes this evidentiary burden is so onerous that P is bound to lose.  So we may go for SL in these situations.  

When I am at risk myself, I only take precautions where B<PL.  So one might say that I should act that way toward others.  But one could also say that I am benefiting from my actions which put you at risk, so I should treat you better than than I would myself.  

B<PL is the standard of care that parties would have agreed to if they had negotiated in advance.  

Custom

Custom is treated differently in social and business contexts.  

In Titus Customary business practices are held by definition not N.

But there are cases where there is reason to think that this is not so, for example with worker safety.  

Theoretically, employers would rationally take safety precautions or pay workers more in an efficient manner.  But ideal market conditions do not exist in this context, because (1) employees do not have full information about the risks they will face on a job, (2) It is difficult to change jobs even if you had the chance.  

So worker safety will be systematically too low.  This is a counterargument to the claim that customary precautions will generally suffice.

The T.J.Hooper: This is the most famous custom case.  Trial ct: Custom was to have a radio, and there was no radio, therefore N.  App. ct:  Just because 90% of the boats had radios doesn’t mean that there was a custom.  The radios were for entertainment.  But independently of custom, the B>PL analysis shows N.  

Geist: Custom should be used as a minimum standard for N.  This is the position the courts have taken.  

_________________

But:  An important exception is with medical malpractice:

- A court doesn’t have enought knowledge of the medical profession to know what are and are not efficient practices independent of custom:  e.g. where it requires a cheap test that can detect a disease at early stages (sounds good), but in fact has a lot of false positives which are very costly.  So (1) a system based on the court’s judgment isn’t ideal.

- But a patient isn’t well enough informed for a market system to work properly - the seller tells the buyer what to buy.  So (2) a free market/custom-based system isn’t ideal. 

If custom were no defense, the result would be defensive medicine:  The patient pays for the precaution (and the doctor profits from it), whereas the doctor pays for the injury if the precaution is not taken.  So too much treatment would be given.  

If custom is a defense, the result will be too much care:  If the doctors’ risk reduction is inefficient, they make more money.  And the seller tells you what to buy.  And the buyer is really your insurance company anyway, so what do you care (in the short term).  So there will be too much treatment.  

A Medical custom standard for N, unlike normal custom standard for N, will lead to too much care.

But, it is preferable to the other systems because (1) it is easy to administer, (2) it eliminates the jury x-factor, (3) it doesn’t lead to under-treatment.  

So medical custom is by definition reasonable care.  

_____________

Local vs. national customs for medical standards

If the 19th C. local doctor were held to the Boston standard for malpractice, he wouldn’t be able to practice, and towns would have no doctors. So a local standard was used.  Lower standard, local medicine was a socially valuable exercise then.

In the 20th C., there’s cheaper transportation, so lower standard, local medicine is not socially valuable.  So we use a national standard.  _________________

A patient has a right to know the cost/benefit analysis for the medical decision he faces.  The doctor doesn’t know the patient’s particular concerns, and the patient doesn’t know the medical facts.  So both have to be involved in the decision.  

Problem:  If you give the patient full information, he’ll over-avoid risks.  

So the doctor is in a better position than the patient to assess his best interests, and should withold information.  

In order for cause to be present a non-disclosure, it must be one that would have led the patient not to undergo the procedure.  But how can we go about making this inquiry?  Obviously the patient will say he would have changed his mind.  So an objective standard is used.  

Statutes and Regulations

Negligence Per Se:  An actor is negligent if, (1) without excuse, (2) he violates a safety statute that is (3) designed to protect against the type of accident the actor’s conduct causes, and if (4) the accident victim is within the class of persons the statute is designed to protect.  This pertains to the actor’s duty.  To what protected party does the statute create a duty that D failed to uphold?  

E.g.: Violation of statute to have pens for animals on ship was intended to prevent disease.  Wave washes un-penned animals into ocean.  But the duty wasn’t imposed to prevent washings over, so no recovery here.

Remeber that if the breach of statute is excusable, then no recovery.  If D was violating a saftey statute to increase safety, that’s OK; the jury wouldn’t be second guessing the legislators here, since that was the purpose of the leglislators.  

The purpose imputed to a statute will determine its relevance to the tort action.  E.g. Was a car-locking ordinance to prevent theft, or to prevent drain on police resources?  

No License Cases

Brown v. Shyne:  Unlicensed doctor causes injury.   License laws’ only effect is to hold the unlicensed to a professional  standard of care.  

This case is about the cause in fact inquiry.  Did the lack of a licence cause the injury to the patient - AKA: If D hadn’t violated the statute, would the injury have happened anyway?  P would have gone to another doctor.  Only if then the injury would have been prevented is there a cause in fact.  So it’s only if the old doctor was N that his not having a license caused the injury.  

With all license cases you have to think about what would have happened had D not engaged in that activity.  

_______

Take a clear rule, like stop, look and listen before crossing RR tracks.  Even if it is a good rule, there will be tough cases.  And these cases will be the only ones to come to court, since the others will settle.  So the courts will come to think that the rule is less good than it is.  So it’s not really realistic to think that a common law system will get easier and easier to run.  

So: None of custom, statute, or precedent works very well compared with a jury’s negligence inquiry.  

Res Ipsa Loquitur

(1) An accident that doesn’t ordinarily happen in the absence of N.

(2) Exclusive control by D.

(3) No contribution by P.

Ps generally have to show that more likely than not there has been tortious conduct.  

In Res Ipsa cases, there is an evidentiary problem:  the only evidence of D’s N conduct is the result of D’s conduct.  There’s no way of checking what the untaken precaution should have been - i.e. whether the barrel-handlers were paying attention.  

With Res Ipsa, the burden of proving no N shifts to the defendant, because prima facie N on D’s part is evident from the occurrence of the injury itself.  For Res Ipsa to apply, there must be a duty (not to have barrels flying out of your windows), a breach (whatever led to the barrel flying out) and cause is obvious.  

Res Ipsa is only appropriate when there is no direct evidence of the breach.  It does not apply when there’s even a little evidence of the breach.

In the escalator case, the injury wasn’t more likely than not due to N.  Well-maintained escalators break all the time.  

P still should have to show that the injury isn’t due to no one’s fault.  The vast majority of elevator breakdowns are no one’s fault, so no res ipsa here.  

If there’s a burnt plane and a rookie pilot surrounded with beer cans, then the circumstances surrounding the injury itself are sufficient to indicate that D was more likely than not N, without need to show just how he was N.  

It must be evident more likely than not that D was N.  Exclusive possession when the defect was caused usually covers this.  

Multiple Defendants against whom P cannot establish all three elements of Res Ipsa as individuals, but can as a group:  

In Ybarra, none of the parties will rat, since their insurance is paying anyway.  

But there’s a reason to group the Ds (unlike in a car crash case), because they’re holding themselves out to the public as a group.  So the court links them, and res ipsa then easily applies.  

Rule: The mere fact of accident is not enough to group Ds; but if you can find more than that, you’re OK.  

*Look for as big of a group as you can that is at least 50% likely responsible for the N, and argue why they should be considered a group vis a vis the plaintiff.  

4. Plaintiff’s Conduct

1. DN
PN
Injury 

2. DN
PRC
No Injury

3. DRC
PN
No Injury

4. DRC
PRC
No Injury

Contributory Negligence:  Duty to oneself, Breach and Cause.

Q: Why should P have to bear the entire cost of injury when he was not the only cause?  In the general case, this is a good question.

It’s clear that people have the right to assume that others will exercise reasonable care.  

It’s wrong to think that CN is to punish Ps for the gain of business, or to prevent Ps from intentionally injuring themselves.  

If either P or D knew that the other was N at the time of their act, then they should pay.  

*The common law rule of contributory negligence is flawed because it focuses on row 2, and says if P hadn’t been N, there would have been no injury.  It ignores the fact that P has a precisely analogous argument focusing on row 3.  

But:  If there is an epistemic difference in the parties’ situations at the time of their actions, then things are different.  

P or D can only justifiably assume that D or P will exercise reasonable care if they don’t know otherwise.  

If they knew otherwise at the time of their action, they they should pay for all of the damages, because they could have prevented them. 

Geyerman:  Here if P hadn’t taken the risk, someone else would have, so D doesn’t have a good argument by saying that if P hadn’t been N, it would have been someone else who got hurt, and it’s therefore P’s fault.  

Where a statute is designed to protect P from his own actions, P can’t be said to have given up that protection by taking the action that he did (alcoholic indians case).  

One is allowed to do whatever one wants with one’s own property.  So, e.g., P’s Nly stacking his haystacks near the train tracks does not make him contributorily N.  So row 2 is knocked out, and only D’s reasonable care would have prevented the injury.  Just as a worker in a factory is not required to use reasonable care (or someone else will be injured instead), a land owner isn’t required to use reasonable care with his land.  

The either/or proposition is unfair where both parties were N, and neither knew about the other.  

Seatbelts: With CN (vs. Comp N), a jurisdiction will have to choose whether wearing seatbelts is contributorily N or not.  If so, P will never recover.  That’s harsh.  But it pretty clearly is CN.  So here a Comp N system is better.  

In epistemically parallel situations, P always loses on CN.  This is unfair, but it’s consistent and easy to administer.  

Last Clear Chance

This is where D had knowledge of P’s N, and proceeds.  If there were no LCC, then P would be CN, and there would be no incentive not to injure.  So LCC is clearly necessary with CN.  Even with Comp N, however, D had no right to assume that P would act with reasonable care.  

Assumption of Risk

This is just the parallel for the D of LCC:  P knew that D wasn’t exercising due care, and acted anyway, therefore he is responsible.  

Like LCC, the elements here are (1) Knowledge, (2) Choice.

There’s no A of R in Eckert because the railway can’t force P to choose between the child’s dying and his life.  

Flopper case:  Here P knew about the risk, and acted in the face of it.  The reason that the ride was fun was because of the risk (PL).  The cost of not facing that risk (B) is not having fun.  So P has done his B<PL analysis beforehand, and decided it was worth it.  

Did P have sufficient knowledge to decide?  This is why posting a warning sign is not always sufficient to avoid liability.  

Such signs generally just prevent people from suing.  If someone clearly made a bad BPL analysis, this is evidence that he wasn’t informed.  

Assumption of Risk made no difference before Comp N, since P would have paid anyway.  

Ignorant baseball watcher case:

The relevant issue is whether the person consented, not whether a reasonable person would have consented.  

Problem:  How can a person be said to have assumed the risk of being hit by a foul ball if they had no knowledge of baseball?  Because given that the ordinary person does not want the precaution (a big screen), the owner has no reason to provide it.  And then, given that everyone else doesn’t want the screen, B is much bigger than PL for D alone.  

So P should lose here, not because she somehow “assumed the risk without being aware of it,” but because there is no duty.  

Some say that this person “subjectively assumed the risk,” while the normal baseball fans “objectively assumed the risk.”

____

Though P may seem not to be giving anything up in agreeing to arbitration with a medical company, he’s actually going from a forum biased in his favor (because of his poor bargaining power) to a “fair” one.  So he is giving something up.  

_____

Comparative Negligence

Geist: Neither A of R nor LCC should be in Comp N.  

3 Proposals:  (1) Contributory N, (2) Pure Comparative N, (3)Impure Comparative N

Geist: 2 is right.

Pro 2 (and somewhat 3):  Both parties had the right to assume that the other party wasn’t being N; both parties caused the injury, therefore both should be held responsible.  The more each party departed from the reasonable standard of care, the more that party should pay.  So the degree of fault is the amount of liability.  

Pro 3:  If P mostly caused the accident, then P shouldn’t be able to recover.  

Pro 1 (and 3 somewhat):  Economic POV:  Comp N is bad because there will be (a) more cases, (b) higher cost per case, and (c) there will be no effect on behavior.  

Pro 2: Fairness, not economics demands 2.  

Pro 2+3:  Judges and juries were effectively using Comp N even before it existed (as in the seatbelt cases).  But things were erratic.  So best to make things official.  

Why Strict Liability and Comparative Negligence are compatible:

Under SL, D is liable for creating a risk irrespective of how N he was.  P is liable for his contributory N, and that reduces his recovery. 

It is the increased risk resulting from P’s conduct that affects the recovery.  

First D created a risk of being bitten, and then P increased that risk 5-fold.  

So there’s a “causal apportionment” here - if P had beaten the dog, he’d be 5/6 responsible.  

But the “causal apportionment” is independent of the amount of negligence of the parties.  

The N leads to a cause, and the cause is a certain % responsible for an accident.  So SL and Comp N are compatible.  

Why LCC and Comp N are incompatible:  

Geist: Comp N is not as fair as LCC when LCC applies.  

Q: Why was Contr N unfair?  Because it arbitrarily made P pay when the liable causes of both parties were responsible for the accident.  

The Li court thinks that under Comp N (1) % of liability is based on % of  fault, instead of (2) % of liability is based on the % of liable risk that caused the injury.  

?On (1), LCC would be warranted under Comp N, though the Li court doesn’t understand that either.  

On (1), Ps would take known risks, since Ds would have the last chance and therefore be held responsible.  [CO: Why?  Aren’t they somewhat at fault?]  So bad incentives would be created.  Ps wouldn’t have to do a BPL calculation.  

...

Why AoR and Comp N are incompatible:

Primary AoR:  Where the harm has come from risk that P assumed; no breach of legal duty to care.  The Flopper case.  

2ndary AoR:  Where the harm comes from risk beyond that which P assumed; breach of legal duty to care. The Wild Boar Case.

With Comp N, in a primary AoR case, there is no breach of duty, so there should be no recovery.  D has done nothing wrong.  

With Comp N in a 2ndary AoR case, there is a breach of duty, so Comp N should allow recovery based on the percentage of liable risk for which each party is responsible [CO: Which here 100% belongs to D].  [Geist: With 2ndary AoR, there is a sequence.]

When you proceed knowing that there’s a risk of a boar attack, D is still strictly liable for the attacks of his boar, [so the percentage of the liable risk causing the accident between the two parties is the percentage of liability].  The old rule would bar recovery here - for proceeding in the face of a known risk.  

Only 2ndary AoR is like Contr. N.  As far as primary AoR danger went, the harm(/risk?) was foreseeable.  So both parties were N.  But the harm(/risk?) from 2ndary AoR was not foreseeable.  [In the Boar case, because the boar owner has no right to force P to leave by the back, we overlook the fact that P could have avoided the harm.]    

Dist: (1) A consents to a dangerous car ride before getting in, vs. (2) B consents to a car ride, then finds that it is a dangerous one, and consents again.  [The difference is that in (2), you’re being forced to change the activity that you’re already doing?]  [Is G saying that in (2) you can recover for the risk exposure before you consented the second time?]

Li is allowing recovery for risk exposure without realizing it.  

E.g. By walking in a dangerous neighborhood, I’m not consenting to being assaulted.  This is like: by walking out my front door where there’s a boar, I am not consenting to be attacked by it.  So in neither case is there an AoR.  [CO: Are these, then, circumstances where (1) P is N yet is not liable, or are they cases where (2) by definition P is not N?  Probably (1).]

5. Multiple Defendants: Joint, Several, and Vicarious Liability

This is where there is more than one N D.

Joint and Several Liability

Joint Liability:  Where you had to sue all the conspirators jointly, and apportion liability between them in order to get recovery.  

Several Liability:  Where you can get full recovery from just one D.

Indemnity:  Where D1 cannot get a percentage of money back from D2, but can get all of it if D2’s cause stands out as the main one.  

Contribution:  Where D1 can get a percentage of money back from D2.

Union Stock Yards v. Chicago RR.:  This is an indemnity case between two parties both N for an injury for which one has already sued.  With indemnity, if one of the parties’ N stands out as the principal cause of the accident, then that party will indemnify.  Otherwise, tough for the initial payer.  

American Motorcycle Assn. v. Superior Ct.:  A concurrent tortfeasor may seek partial indemnity from another concurrent tortfeasor on a comparative fault basis; if P is 30% responsible, D1 is 60% responsible, and D2 is 10% responsible, then they’ll pay that percent of a $100 award; if D1 is insolvent, then P will pay 30% while D2 pays 70%.

Evangelatos v. Superior Ct.:  Apportions liability for insolvent Ds among all parties rather than just Ds, so the hypo will go P: 75%, D2 25%.  

How we characterize comparative fault here is important.  Is it (1) All parties should pay for the harm they’re responsible for [wrong], or (2) All solvent parties should pay for the percentage of the harm for which they’re responsible [wrong?], or (3) All solvent Ds should divide the harm all the Ds are responsible for according to their relative degree of liability.  

It is better for the D to bear the risk of insolvency, since he by definition was a but-for cause of the entire harm.  

Comparative fault is different from joint and several liability.  J+S is about who bears the risk of insolvency.  Comparative fault serves a different purpose - prevent arbitrary recovery from only one of many culpable parties.  

The AMA court gets the right result for the wrong reason.  Comparative fault should not affect J + S liability, but should give rise to a right of contribution.  

The reason that the AMA result is right is that the culpability of injuring oneself is different from that of injuring another.  

Settlement systems:  $100 case, two Ds.  

Pro Tanto Rule:  D1 settles for $20, D2 is liable for $80.  This encourages settlement, but is unfair to D2 and overcompensates P.

Claim Reduction Rule:  D1 settles for $20, D2 can only be sued for $50.  This is fair.

Problem:  Pro Tanto Rule is very difficult for the courts and only spreads costs between culpable parties.  So the Pro Tanto Rule is kept.

Joint and Several Liability:  This is a favorite of reformers.  Accident 99% city’s fault, 1% driver’s fault.  City pays 100%.  This looks like deep pockets.  But in princple, it is fair, since the city’s conduct was (in theory) a but-for cause.  But in practice, juries use it to get to the city even if they didn’t really cause the injury, without realizing that the city will pay more than just 1%.  

Vicarious Liability

Ira Bushley Inc. v. US:  Drunken Coast Guard sailor turns wheel causing ship and dock to be damaged.  US: sailor’s actions were not in the scope of his employment.  Ct: D’s turning the wheel was by no account acting in the service of his employer, and holding employer liable won’t prevent future accidents.  So why do we?  D’s actions were characteristic of seafaring activity: being on a boat makes one get drunk and return to the boat.  Employers are vicariously liable for injuries the risk of which is inherent in the working environment.  These can be broadly “foreseen”.

G: This is a form of SL.  You’re SL for the activities of your employees in their characteristic activities.

The reason liability is transferred to the employer is so P can get paid.    

Think of the liability as part of an implied contract with the employee concerning such torts committed by employees.  It will be cheaper overall for the employers to get insurance for these torts than for the employer to pay the employees more and have them individually buy insurance.  

There are borderline cases as to whether some behavior was caused by the workplace.  

Petrovich v. Share Health Plan of Illinois:  D HMO’s independent-contractor physician fails to diagnose oral cancer in a timely manner.  Drs. were not presented to patients as independent contractors.  Although generally no vicarious liability exists for the actions of independent contractors, vicarious liability can be imposed for the actions of independent contractors where an agency relationship is established under either (a) the doctrince of apparent authority ((1) HMO’s holding itself out as a care provider + (2) P’s justifiable relianceon HMO rather than his physician for health care services), or (b) the doctrine of implied authority (because of de facto restraints on Drs’ medical decisions).  

Apparent authority creates the impression that there is a single entity being dealt with, and the parties benefit from that appearance. (An objective standard is used.)

Implied Authority:  Where there’s an actual agency relationship (not expressed or contractual) that furthers the principal’s relationship.  (Vicarious liability easily follows from this.)

Ds are only liable for the actions of independent contractors if there is a special danger characteristic of the activity the hirer is engaged in.  Without this exception, in such cases employers would just hire independent contractors to avoid the risk.  

This explains why a lawyer who directs a cab driver exactly on how to travel  is not liable for the driver’s accidents, since the lawyer is not involving the driver in a risky activity involved in the practice of law.  

6. Causation

Cause in Fact: Did the conduct in question but-for cause the injury?  

New York Central RR v. Grimstad: Barge captain drowns w/o life buoy.  P must establish that D’s specified N caused the harm to P.  You’re only liable if your N is the but-for cause of the injury.  This is a counterfactual inquiry.  P can specify the untaken precaution, and this will determine how the cause in fact inquiry is made.  The more precise the untaken precaution is, the more likely it will be a cause in fact.  But the more precise it is, the less likely it is that not having it specifically will constitute negligence.  P must balance these factors to its advantage.  The easier it is to show N, the harder it is to show cause in fact.  

Here the court imagines that the life-saving devices were kept inside the cabin, not at the side of the boat.  P should have done the latter.  

Having a can of nitroglycerin at the edge of a table is N, but this N is not the cause in fact of the can’s falling and injuring someone’s foot without exploding.  

Zuchowicz v. US (1998): Overprescription alleged to cause fatal heart attack.  If (a) a negligent act was deemed wrongful because that act increased the chances that a particular type of accident would occur, and (b) a mishap of that very sort did happen, this is enough to support a finding by the trier of fact that the negligent behavior caused the harm.

Problem: How does P establish that the prescribed dose wouldn’t also have led to the heart attack?

Solution:  If there’s a strong enough prima facie case, the burden will be shifted to D (lifeguard sign).  

Problem: Companies stop keeping statistics once they start selling a drug, at the very point that human evidence comes available.  Even if the risk is doubled by the drug, the plaintiff will lose, since the standard is “more likely than not.”  And a plaintiff could never fund a study.  But if the burden of proof were reversed, P would win all the time.  

Who is competent to evaluate conflicting causal claims - judges?  biased experts?  

Solution: Companies should be administratively required to continue research.  

Herskovits v. Group Health Cooperative:  If D Dr’s failure to diagnose decreases dec’s already poor chances at survival, he’s liable. Here, although the Dr’s N did not more likely than not cause death, the case is re-characterized:  Dr’s N more likely than not damaged D’s chance of survival.  

You’re recovering here for a lost chance.  

If you lose a 14% chance of survival, your damages should be 14% of your wrongful death damages.  

Q: Should recovery be allowed for mere risk exposure?  

The difference between Herskovits and such a case is that the damage had already occured in Hersk.  

Problems: (1) If you allow recovery for the risk, the people with the disease won’t recover more.  (2) The class of potential Ps will be larger (so more litigation).  (3) The damages will be difficult to figure - the damages will be different for everyone (14 year-olds v. 85 year-olds).  (CO: and (4) the class of Ps may be hard to delimit.)

So the tort system clings to the injury itself as a starting point for litigation.  

But: There’s a problem with cases where (polluter) P knows that there will never be a 50+% chance that they caused an injury, as with 3-mile Island.  Allowing for recovery of risk will help this situation.  

Kingston v. Chicago & N.W. Ry.: 2 fires, only one known to be man-made (and was caused by N of D).  Ct: 2nd fire’s origin is “morally certain” to be of man.  Burden is on D to show that a second cause was a natural occurrence, and not the result of  [N] human action.  

Here both Ds could argue that they were not but for causers of the house’s burning.  But both Ds can and should be held for the damage.  So the but-for test breaks down here.  

You can (1) join both Ds, or (2) ask whether D’s cause was a “substantial factor in bringing about the harm.”  

Summers v. Tice: 2 quail-hunting Ds fire, and P hit with shot.  If Ds are independent tortfeasors and thus each liable for the damage caused by him alone, where the matter of apportionment is incapable of proof, the innocent wronged party should not be deprived of his right to redress; therefore the burden of proof as to which D caused the harm shifts to Ds.  

Note: This case differs from Kingston in that it is not clear that either D would have caused the injury anyway.  

Both Ds created an unreasonable risk, but neither one more likely than not created harm.  

A grouping move must be made here:  The 2 Ds together more likely than not created the harm.  

Alternative Liability:  More than 50% of the Ds are brought in, there will be joint liability, and you sue more than one D for all the damages.  

Summers is like Ybarra, except there only one of the 8 defendants was N.  Here both were, but only one caused.  

The grouping move is justified because each created a tortious risk to P, so better that they pay than P.  Not unlike:  

Market Share Liability

Sindell v. Abbott Laboratories: Mother’s ingestion of DES injures child.  Manufacturers of a product identical to the one which harmed p are liable in shares proportional to their market share of the market at the time the injury was caused, regardless of actual causation.  and  Skipworth v. Lead Industries Assoc.: Infant lead poisoned.  Application of market share liability to lead point cases such as this one would lead to a distortion of liability which would be so gross as to make determinations of culpability unfair.  

In these cases, P is injured, and D’s identity is unknown but is certain to be one of an identified group, all of whom were N toward an identifiable group of people of whom P is a member.  

Difference from Summers:  Not all of the Ds have acted Nly toward that specific P.  

The Skipworth court errs in thinking that the actual D definitely must be there.  P must only show by a preponderance of the evidence that the actual D is present.  

Sindell would be unfair if 51% of the manufacturers of DES were made to pay for 100% of the liability over and over again.  Unlike Summers, this scenario is cabaple of being repeated again and again.  That’s where the market share liability aspect comes in to separate this from Summers: Every D is liable only for its proportion of the market share, since that is the percentage of the injuries it caused.  

Skipworth (vs. Sindell) was rejected because the product did not pose a fungible risk, so things got too complicated for the court’s liking.  What you need is a way of connecting D’s conduct with a portion of the risk of the group that caused all of the risk.  The percentages don’t have to be 1 to1.  This is the difficult trick with these cases.  

Without a substantial portion of the market figures there, a court may complain that it isn’t more likely than not that the causer is present.

This is the first genuine instance of several liability.  

So why care whether 50% of the market are present?   

If 10% is present, it will be more likely than not that D caused 10% of the injuries.  So courts mess up here.  

Proximate Cause

This is policy-based, not physical.  What consequences of your N actions should you not be held for?  We must draw a line somewhere, or they could be held liable for the distruction of a whole city.  

Directness Test  vs. Foreseeability Test:  Note: The only cases this matters for are direct, unforeseeable risks.

Ryan v. NY Central RR.: D’s N fire burns his own house and P’s 130 feet away.  D is liable for proximate - viz. “ordinary and natural result”...“not due to accidental circumstances over which the party has no control” - results of his negligence, but not for remote damages.  

“Ordinary and Natural” has an element of foreseeability in it (“ordinary”), but also of the the result of “natural” (vs. human?) forces acting on the world.  

One option:  Human conduct truncates liability.  

Another option:  Reasonable Human conduct can be part of the ordinary, expected course of events.

What about N human conduct?:

Berry v. Sugar Notch Borough: Speeding car hit by falling tree.  The fact that P was speeding at the time does not affect his right to recover; no foresight could have predicted that his speed would bring him to that spot at the unlucky time, so P’s N was not contributory.  

Here the N was not a cause in fact of the injury.  So P can recover.  

G: In the CF inquiry, you eliminate the unreasonable risk but can construct it so that the person is in the same place at the time.  To eliminate the unreasonable risk and only that risk, the example sometimes must become artificial:

Central of Georgia v. Price:  Train’s skipping P’s stop leads to her being burnt by a hotel lamp.  N of RR was not the “natural and proximate cause of her injury”.  (There was an intervening agent, and) the injury was not a foreseeable result of the RR’s N action.

Here there is nothing about the RR’s conduct with respect to the lamp that is N, and if P had gone home, there would have been other similar risky lamps around.  But saying that the lamp could have been in P’s house sounds too hypothetical, so courts sometimes get this wrong.  

What we want to find out in the CF inquiry is whether the risk is the sort of risk that causes that sort of injury.  

Brower v. New York Central: Train hits P’s wagon; wagon’s cargo stolen as a result.  P permitted to recover for cargo; “the act of a third person intervening and contributing a condition necessary to the injurious effect of the original negligence will not excuse the first wrongdoer, if such act ought to have been foreseen.  (Dissent: D can’t be held for creating the mere opportunity for a crime by a third party.)

Brower can’t be the naturalness/directness test, because the intervening acts were human.  So this is foreseeability.  

Policy-wise, you’d want the foreseeabiliy test here, to prevent the RR from creating circumstances that lead to crime, and that is the law today.  But: Don’t forget that the N of lax security must be shown more likely than not to have been a but-for cause of the crime.  

So:  If something is labelled an intervening cause, this will only matter in a directness jurisdiction.  

In a foreseeability jurisdiction, you’d call it a superseeding cause.  

§448. Intervening tortious or criminal acts limit liability unless such acts were a foreseeable possibility at the time of the original negligent act.  (Physician liable for returning beaten child to parents who abuse further.)  

§449. If the possiblity of a 3rd party’s tortious or cirminal act is what made the original act negligent, then those intervening acts do not prevent the original actor from being liable. (Phone co. liable for placing booth too close to road where drunk driver hits caller.)

Ds are liable for injuries in non-negligent attempted rescues whether impulsive or deliberate; danger invites rescue (this remains good law.

In Directness jurisdictions, human, tortious, or criminal actions provide a place to pin liability other than the original P.  

Polemis:  Plank negligently dropped into ship’s hold, ignites unforeseeable spark, and ship burns.  2 views: (1)  Foreseeability is not a limit to damages; (2) Foreseeability is a limit to damages.  (1) is correct; foreseeable damage is only relevant to the determination of whether an act was N.  If it is N, then damage following from it needn’t be foreseeable to be D’s responsibility. (This is good law in most American jurisdictions.)  

*Polemis is a directness case.

Q:  How can D be justifiably held for a problem he could not have foreseen?  There’s no policy benefit.  

There is a difficulty with foreseeability in that D will never admit that he could foresee the harm.(?)  

*With intentional torts, you take your victim as you find him; there is no foreseeability limit to damages.  Between the parties, D should bear the loss.  

D argues that the kind of harm that resulted from the N act was not foreseeable, so D could not be held liable.  

Judge says that all harms are of the same kind:  the damaging to the ship kind.  G: Why not the “heavy object damaging ship” kind??  This is completely subjective.  

Foreseeability jurisdictions will say you’re liable for the risk rather than the harm: you’re liable for any harm caused by your N risk.  

G’s arg. vs. Directness:  The inquiry made here is of the sort that should be made in the cause in fact inquiry.  The court is afraid to make that inquiry in its proper place, because they’ll be saying that there was a spark that had no cause, and will look silly.  But, again, the question that should be asked is whether the risk caused is the sort of risk that causes that sort of injury, and the answer here is no.  The heavy object falling type of risk does not lead to the fire sort of injury.  Effectively, there is a rule, even in directness jurisdictions, that the injury must be of the general type that results from the tortious conduct.  

*G: If you count the harm from the spark, you should count the harm from the lamp fire too, and you don’t want that.  You want a natural cut-off point, and foreseeability provides you with a motivated one, because of the prevention economic/responsibility consideration.  

G: Palsgraf is not about proximate cause and foreseeability. 

Palsgraf v. Long Island RR.:  RR employees leave door open, man runs to catch train aided by employees, his bag of fireworks falls on to tracks and explodes, knocking down scales which  injure D on the platform.  No proximate cause; guards’ actions were not foreseeably risky to D; N is always toward someone, not toward the world at large, and there is none toward D here.  

Foreseeability determines to which people you owe a duty of care.  You can’t be held liable for your choice with respect to an unforeseeable course of events.  *If P has no bearing on a reasonable decision made by D, then D has no duty to P.  

With no duty, you never even get to the causation question.  

*Directness jurisdictions formulate the duty question in terms of foreseeability.  It’s just the proximate cause question that concerns directness.  

[And since there is this foreseeability issue in the duty inquiry, it is present in the directness context too.  So foreseeability is better than directness, since foreseeability only has one vagueish notion, rather than two: foreseeability, and whatever ends up limiting the directness liability of “burning lamp cases.”]

Negligence cases can be distinguished from directness-ish intentional tort cases like Vosberg because the upward limit of damage in the vast majority of intentional cases is death.  Not so with N cases, where it is many deaths.  

The precise unfolding of events is never foreseeable.  The idea is to think of things generally, and see if the event fits in.  If your category is “P gets injured,”  then the injury will always be foreseeable; if it is “P gets injured in xyz way,” then it won’t be.  

Foreseeability is about limiting liability in a way related to your decision making process at the time of your act.  So categorize things that way.  

Union Pump Co. v. Allbritton:  Fire caused by pump is extinguished by P, who is returning from a final check when she falls due to (1) her negligently walking across a pipe rack, (2) the water from the firefighting and (3) her wearing firefighting boots.   There’s no proximate cause where “all forces generated by the [act of negligence] had come to rest and no one was in any real or apparent danger therefrom”; the pump fire was merely a philosophic/but-for cause of the injury - it merely created the circumstance that made the injury possible.

G: This isn’t foreseeable.  But the case is from a directness jurisdiction.  So is the harm direct, or are there intervening causes?  

This case demonstrates the problems with directness.  All the causing factors came about because of the N act.  There’s no good criteria for what constitutes a direct cause.  

The only criteria in use is whether it seems right to make D pay.  But that is totally unprincipled.  

So foreseeability is marginally more well defined - what an actor would foresee.  

And these are the risks that an actor will be worried about - not things like people slipping in their boots after a fire.  You don’t worry about Nitroglycerin falling on someone’s foot.  

Duty always must depend on foreseeability, since it is about choosing courses of action.  

So why have two elastic concepts - foreseeability and directness.  

Directness relies on the eggshell skull notion.  But reasonable care is with reference to the average person.  

The ship in Polemis is like an eggshell skull victim.  Polemis is like Vosberg.  

Emotional Distress

The old rule: No physical contact/injury, no recovery, even with clear duty, breach, and cause.  

The worry is fraudulent claims: difficulty of proof.  

The rule is as good a way as any to get rid of a lot of fraudulent claims while keeping a lot of valid ones.  

Problem:  There will always be borderline cases where courts want to award damages.  

New case uses a new rule: proximity to accident, immediate shock, close relation to the victim.  

In this particular case, there was no worry about fraud.  

But there will always be another fringe case to give the rule trouble.  

A standard is applied case-by-case.  A rule is not.  

This new rule will get more and more beaten up, like a standard.  Then the pendulum will swing back.  

7. Affirmative Duties

The Duty to Rescue

There’s always a liberty/responsibility issue underlying findings of  “no duty”.

Landowners have no duty to trespassers.  They can treat trespassers just like people in public, so there is no affirmative duty to them at all.  

You have a duty to rescue only if you created the risk in question.  

There’s a utilitarianism issue here:  In each case, rescuing would lead to greater utility.  But then the doctor would be required to fly across India, and everyone would be bogged down by affirmative duties.  So a hard rule against affirmative duties is in place.  There are no other going suggestions as to where to draw the line.  

Morality and the law come apart here.  

A criminal law with a small fine ($100) which will only induce easy rescues is preferable here to a tort duty to rescue.  

Duty doesn’t come up much.  

The best explanation of why there is a duty element at all is the duty to rescue cases.  

Otherwise you’d have breach, proximate cause and injury.  The lack of duty absolves D of this liability.  

Duty is “the up front determination of whether the D is responsible for controling his behavior for the protection of others” - does it impose too much on their liberties?  For all case, even if B<PL, there’s no duty.  

If your affirmative conduct, like your driving a car, creates a risk, then you have a duty to control that risk.  

You have a duty to help someone on the street only after you enter into and alter the situation.  Even if you enter by helping, if you do so negligently, you prevent other helpers, or can make things worse.  

Erie R.R. v. Stewart:RR normally employed a not-legally-required watchman at an intersection; P’s dependence on his absence leads to train hitting P.  Once D has established for itself a standard of due care while operating its trains across the highway, and, having led the traveler into reliance upon such standard, the practice must not be discontinued without exercising reasonable care to give warning of such discontinuance although the company may thereafter do all that would otherwise be reasonably necessary.

G: Here again, once you act, you’re responsible for the risk you created.  

Marsalis. v. LaSalle:  P bitten by D’s cat in D’s store; D promises to keep the cat locked under observations for 14 days but cat escapes due to D’s N, leading to injury from delayed medical care.  Where D volunteers to help P but negligently fails to do so, D is liable for the resultant injuries to P.

G: If D hadn’t acted, P would have been better off, by going to the doctor sooner.  

All of these cases are just based on the move from feasance to non-feasance - active participation vs. not.  

Special Relationships

Kline v. 1500 Mass. Ave. Apts.: P assaulted in front of her apartment where D knew of the considerable danger.  Landlords have a duty to take steps to protect tenants from foreseeable criminal acts by third parties on their property.

Landlords, universities, other contractual relationships, prisons...all involve special relationships.  The relationship must be the source of the risk.  

One question:  Why not handle the contract ones with contract law?  

These are like the vicarious liability worker cases.  In effect, we are imposing a contract term on the parties.  The landlord here is best placed to prevent harms - he controls the common areas, and can take contributions from each tennant.  

In all of these cases, the party best placed to prevent the harm has the duty.  Then you must be sure that it won’t adversely affect the contractual relationship - e.g. make the rents go up too much, leading to homelessness and less safety.    

Tasaroff v. UC Regents: Ps’ daughter killed; killer told psychologist of his intention; D didn’t warn Ps, and didn’t confine killer.  Psychologists have a special relation to their patients allowing a requirement of disclosure of information; “the public policy favoring protection of the confidential character of patient-psychotherapist communications must yield to the extent to which disclosure is essential to avert danger to others”.

The easy case along these lines is when the state releases a criminal early, who then kills someone.  

But here, if there were no confidentiality, then lots of patients might not get counselling, and this would lead to more murders.  If you require disclosure here, you’d want it as targetted as possible to minimize cost.  

8. Traditional Strict Liability

Ultrahazardous or Abnormally Dangerous Activities

Distinguish:  B1<P1L1 vs. B2>P2L2.  Here it is in the actor’s interest to take B1 but not B2, because failing to take B2 isn’t N and wouldn’t be efficient.  So the total cost of the activity is B1 (to the actor) + P2L2 (to the victim).  

Under SL, the actor still won’t take B2, since it will be cheaper to pay for the injuries.  But under SL, all costs will be paid for by the actor: B1 + P2L2.  So the cost of engaging in the activity will increase, and some activities will no longer be worth it.  

So SL will stop some activities from happening altogether.  

One approach:  SL is based on a BPL analysis for an activity as a whole.  

This approach depends on the premise that there are some activities that can be detered with SL but not with N.  

SL can increase safety not with increased precautions, but by curtailing certain activities.  

The court is less able to do the N calculation than D only for certain activities.  

If the benefit of an activity (building a reservoir) is less than the risks posed by it once the reasonable precautions have been taken, then engaging in that activity at all is N.  

3rd Rest:  There are few activities the risk of which cannot be controlled by the N standard.  

Problem: There are a lot of complex things the risk of which the actor will have a much clearer idea than the court, and D will never tell.  

In the phone cord baskets case, the untaken precaution suggested doesn’t work, but there were probably plenty of others of which only D knew.  

The Reciprocity Theory (3rd Rest)

People who engage in Abnormally Dangerous Activities put others at much greater risk than others put them.  So the reciprocality rationale for allowing people to put each other at risk breaks down.  Therefore, people engaging in abnormally dangerous activities should be held SL.  [Tort is about fairness]

The Deterrence Theory (Geistfeld)  

The hazards of certain activities [Why should these be the abnormally dangerous ones?] are only knowable to the actors because of evidentiary limitations, and thus will be consistently underestimated by the courts.  Thus those activities will be systematically underdeterred with a N standard.  SL will force the best decision-makers to decide whether those acivities are worthwhile, and this will result in close to the ideally beneficial set of activities taking place.  [Tort is about efficiency.]

How you come down on this will partly depend on your feeling for the evidentiary challenges faced by Ps.  

2nd Rest factors in determining whether an activity is Abnormally Dangerous:

1) High risk to another’s person or property

2) Likelihood of serious harm

3) Inability to eliminate risk

4) Uncommon activity

5) Inappropriate location of activity

6) Value to community of activity vs. its danger

Geist: 1-3 are covered by BPL.  If there is a high risk remaining after precautions, we may want to single out this activity.  

4  G:  This is about the inability to eliminate this activity, even with SL, and that there is probably a substantial benefit from it.  To impose SL on drivers would just funnel injuries throught the tort system instead of the cheaper insurance system.  3rd R says it’s about reciprocity.

5:  G:  A P will have a dificult time showing that dynamite should be stored in another place, and so could not win on a N standard.  [CO: This makes no sense because the court would have to decide whether the dynamite was stored in an inappropriate location before they imposed SL.]  

6:  G:  If an activity is valuable to the community, you don’t want to deter it.  3rd R: ???  An activity’s value to the community has nothing to do with whether it is fair that its perpetrators should compensate victims.  

G:  6 allows the individual to consider the cost to the town of shutting down a factory in his private BPL calculus.  The court should recognize the value of the factory by using the N standard rather than the SL one.  

G does not say that all English reservoir owners are N.  The fact that they’re operating at all says that they’re not.  

G:  SL is just a practical matter.  Some sorts of business, like chemical manufacturers and gun manufacturers, simply aren’t regulated well by the N standard.  They fail to do needed research, and ignore black market distribution.  Actors only take the reasonable care that they’ll be held liable for not taking.  So SL is needed to prevent this lapse.    

9. Products Liability

Here the costs are very apparent, and the benefits are not.  So a lot of people mistakenly want to reduce the system.

Cardozo: Product liability cases satisfy Duty (foreseeable victims - not necessarily purchasers only.  But the cost of this duty can be passed to the consumer, so it will not be unduly burdensome), Breach, Cause, and Injury, so they can be dealt with by the tort of Negligence.  No contract is necessary.  

After this decision, P would frequently rely on res ipsa to show that a product was defective.  

But then Coke claimed that no matter how much care one took, some bottles would explode.  

So res ipsa didn’t apply.  

Traynor’s reply:  What we’ve been doing is applying SL, so lets just do so explicitly.  

[SL is something like tort and something like contract:  There’s no privity impediment, but also no proof of N necessary.]  

Also:  SL internalizes the cost of injury to the product, and thus insures via the tort system (which was good when there was not widespread personal insurance).  

If a consumer could know all the risks involved in a product, there would be no need for SL; consumers would value the product as: 

Price + P1L1 + P2L2.  

So it would be worthwhile for manufacturers to take the risk-reducing measure.  Then the cost would be decreased to:

Price + B1 + P2L2

Unfortunately, consumers don’t know the risks, so they just rationally buy the cheaper product.  And if consumers won’t pay for safety, manufacturers won’t supply it.  

SL solves this problem.  Manufacturers are held responsible for both P1L1 and P2L2, so they’ll produce Price + B1 + P2L2  products; you get (1) an optimally safe product, and (2) a mini-insurance policy.  

Problem:  This is a really expensive way to insure.  This came out during the 80s and 90s.  

2nd Restatement

2nd R, 402:  You’re strictly liable if a defect in a product causes physical or property damage.  

- The product must be dangerous to an extent beyond that which the ordinary consumer would contemplate.

Defect is defined in terms of consumer understanding; it’s the consumer’s lack of information that motivates the SL.  

With foreseeable danger, AoR prevents recovery - cuts from a knife.  

Defects are determined by comparing the product with the way the manufacturer presented the product.  (A limited rule.)

Pintos are defective because the consumer doesn’t think he’ll be killed by being rear-ended.  

Contract v. Tort

Things that look like technicalities in a products liability case serve a real purpose in other contract settings, e.g. requts that you must give notice shortly if you want recovery.  

Tort and contract remedies are also different, e.g. there are no emotional damages in contract law.  

You could just change all of these aspects of contract law, but this would be to damage it when you could just use tort.   

Here concrete that was part of a house cracked:  Pure economic loss cannot be recovered in tort.  

Casa Clara Condominium Association, Inc. v. Carley Toppino & Sons, Inc.:    P cannot recover in tort for purely economic losses when a product damages itself but nothing else; such “economic losses” are disappointed economic expectations, which are protected by contract law, rather than tort law.  Someone who uses a widget as a decoration should not have to subsidize someone who depends on a widget’s not breaking down for the profitability of their factory. (This is the widely held 3rd Rest. view.)

If a widget breaks and starts a fire which damages your property, you can recover, because there is property damage.  

Contracts is bad in physical injuries and property damage, but good in purely economic losses.  Manufacturers know best about the risks to person or property involved in their product.  But economic risks vary greatly from one customer to another.  So the individual is in a better position to have this knowledge than the manufacturer.  

Tort liability spreads costs evenly between all purchasers.  Contract liability is variable on a person-by-person basis, and costs are not evenly spread.  Contract, then, avoids having low risk people subsidising high risk people.  High risk people can seek special arrangements.  

So there is a natural boundary between tort and contract law here, though it may seem arbitrary in particular instances.  

Pure economic losses are not appropriately governed by N standards, because it is unfair to D.  P is in the position to know whether he needs a guarantee, so he should ask for one.  

?Tort law is designed to account for the stronger vs. weaker interests of physical harm vs. pecuniary harm.  There’s no duty with equivalent monetary interests on both sides.  (So in such cases, the lack of knowledge of D about the particular use of the product is balanced by the more serious risk posed to P?)

Tort can go too far - assuming that consumers know nothing - and deprive consumers of legitimate choices.  There must be a balance.  

Proper Defendants Under Section 402a

If someone sells a widget (vs. providing a service), then they are subject to products liability.  

Small retailers are not in a position to affect product safety, nor can they insure well.  They’re more in a service industry more than one that can affect product safety.  One reform would be to absolve them of liability for the products they sell.

Cafazzo v. Central Medical Health Services, Inc.:  Doctor and hospital provide P with design defective mandibular prosthesis.  SL inheres only in situations where a defective product has been provided by a seller “engaged in the business of selling such a product”.  Doctors and hospitals are transferers of products, not sellers; provision of medical services is qualitatively different from the sale of products, and thus does not fall under 402a.  Holding Drs and hosps SL wouldn’t further saftey, and wouldn’t distribute costs effectively.]

3rd Restatement

Here (1) Manufacturing Defects, (2) Design Defects, and (3) Warning Defects are all distinguished (unlike in the old 402a).

3rd Rest: Keeps SL for manufacturing defects, but uses a N requirement for design and warning defects.  

Manufacturing Defects

These defects are determined by comparing the product with the design specifications/it’s twins.  

Pouncey v. Ford Motor Co.(1972): Radiator blade breaks off and disfigures D’s face while he was changing anti-freeze while accelerating car with hood open.  Jurys should not be precluded from inferring D’s N from the fact that a product was defective.

This case used SL in the guise of N.  

Traynor changed this in Escola.  

402a says “defect” is something not contemplated by the consumer.  The Consumer Expectation Test.  

With exploding products, there is an evidentiary problem for Ps.  

There is a form of circumstantial proof  - like Res Ipsa, except that RI proves N, whereas this proves only a construction defect, N or not. 

Light aircraft have a problem here - they’re very well maintained, last for ages, and when one crashes, it destroys the evidence of defect with itself.  If there is no pilot error, then manufacturers are SL, although they didn’t and couldn’t have planned for this.  So there has been legislation putting a statute of repose on such liability.  

Design Defects

These defects are determined by product vs. consumer expectation.  

There need be no manufacturing defect.  There is not the same evidentiary problem, because the design is still there, although an untaken precaution still must be suggested.  

VWs were dangerous because consumers didn’t know about the defects, and VW didn’t want to sacrifice profits to re-design.  

VW argued that they had no duty, since crashes were not made to be crashed.  Ct: VW did have a duty because crashes were “foreseeable misuse.”   

G: We wouldn’t get sufficient risk reduction out of these cases to warrant having a SL standard.  

If injuries are partly the fault of the driver, and partly the fault of the car design, the courts treat them like indivisible injuries, even though they are not, and use a joint and several liability-like system.  The burden is on the manufacturer to show that the injuries can be divided.  

Linegar v. Armour of America:  Dec. shot and killed while wearing bullet-proof vest with limited side-protection.  “Open and obvious” test employed.  An article sold must be dangerous to an extent beyond that which would be contemplated by the ordinary consumer who purchases it if it is to incur liability to D.

To have held Ds liable here would be to say that only one, very constricting kind of vest is legal.  This is a case where consumer choice would have been restricted by an over-eager tort system.  There’s a reason these vests had gaps under their arm holes.  

Equally, it is open and obvious that VW Bugs are not as safe as Volvos.  

But: the open and obvious test (full stop) was rejected:

3rd Restatement (accepted): The fact that a danger is open and obvious is relevant to the issue of defectiveness, but does not necessarily preclude a plaintiff from establishing that a reasonable alternative design should have been adopted that would have reduced or prevented injury to the plaintiff.  P has the burden of proof.

G: There’s a parallel with Flopper-like disclaimers here: If you’re faced with an open and obvious risk, but proceed in spite of getting no benefit from it, it ipso facto means that you didn’t appreciate the risk.  To establish AoR, there must be appreciation of the risk.  Still, there will be cases where the “open and obvious”/“patent” rule’s rejection won’t leave mfr. without protection.  In the vest and VW Bug cases, the consumer appreciated the alternatives and chose for himself.  

2 rules on what counts as a “proper design”:

1) Defect as defined by Consumer Expectation  

2) The Risk/Utility Rule  (AKA BPL)

3rd R: Adopts 2, but this has been controversial.  

Barker v. Lull Engineering Co.:  P injured while operating a high-lift loader of allegedly defective design.  Risk Utility Test employed.  A design is defective if either (1) the product has failed to perform as safely as an ordinary consumer would expect when used in an intended of reasonably foreseeable manner, or (2) the benefits of the challenged design do not outweigh the risk of danger inherent in such design; once P makes a prima facie showing that the injury was proximately caused by the product’s design, the burden should appropriately shift to the defendant to prove, in light of the relevant factors, that the product is not defective.

Post-Barker, the Consumer Expectations Test was a minimum below which mfrs. can’t fall (like custom for employers).  There are good reasons to think that this minimum is too low to be the exclusive rule.  

The R/U Test:  The benefits of a design must outweigh the costs.  (BPL).  This will reflect the utility and costs of having big armholes in your bullet-proof vest.  

According to the Barker court, once there is a pf showing that the product has failed, then the mfr. has the burden of proof.  This is like Geistfeld SL.  

Nonetheless, this approach was dropped:  The BPL eventualy came to define “defect,” and the burden-shifting was never followed.  

There was another SL like aspect to design defect:  Knowledge of design defects was as of the trial, not as of the sale.  So Mfrs were effectively held SL for such defects before they were discovered.  This provided incentive for companies to discover such defects and correct them.  But now the standard is the time of sale.  So there’s a N standard. 

There is Categorical Liability for “Saturday night specials.”  The risk of any of these products are by nature outstrips its usefulness to the consumer, so they’re considered defective designs.  The court is cutting off consumer choice here.  

Potter v. Chicago Pneumatic Tool Co.:  Ps suffer hand injuries from excessively vibrating hand tools over 25 years.  The expectation standard is superior to the requirement that P prove the existence of a reasonable alternative design.  The latter test is too difficult for P.  If the facts permit an inference that (1) the product did not meet ordinary consumer expectations, then defectiveness is established, otherwise, use (2) the 6 factor (BPL) test involving technical info only available to the manufacturer.

So Consumer Expectations are the floor, but the Risk Utility Test is used in addition, when ordinary consumers would have no expectation of safety with respect to some feature of the product.  The RU test amounts to what a reasonable consumer would expect if he knew the relevant information.  

G: Here the 3rd Rest test is rejected (and not because it allows courts to effectively ban dangerous products as defective).  

[Potter says that requiring P to come up with an alternative design is too demanding.  

[Consumers don’t have expectations about the effects on nerves of vibrations’ over the course of a career.  

G: Once you move from consumer expectations to informed consumer expectations, you’ve gone from consumer expectations to BPL.  

?The court thinks it is doing Ps a favor, but in fact, its modification will make little difference for design defects cases, since in general, consumers expect designs to be perfect - that is, better than a product that merely passes the Risk Utility test.  

In Denny, the risk/utility test was passed, while the consumer expectations test was failed.  The court saw that CEs act as a ceiling rather than as a floor, because consumers tend to underestimate the risk of a well-designed vehicle.  

So the Barker court is mistaken to take the CE standard as less demanding than the RU standard (and not just practically speaking).

G: Consumer expectations focus on risk, not safety.  Barker characterizes them in as expectations of safety.  If you describe the expectations in terms of safety, and the consumer has no real expectation, you’ll think that the test is easy to pass.  However, if you describe them in terms of risk, and there are no such expectations, then you’ll find that the test is one of SL.  

Geist: With Construction Defects, CEs are that the product is perfect, so SL is the result: any imperfection and the product does not meet the CE test.  So CE couln’t possibly be the floor test.  With Design Defects things are the same.  

The 2nd R talks about “consumer expectations about the condition of the product” - neither of the above.  

So: * There’s no such thing as a “straightforward” application of the CE test.  

You have to use a different test for design defects, which is why there SL test isn’t applied for design defects.  

Nonetheless, 3rd R was wrong to throw the CE test out altogether.  If you give a straight RU test to a jury, mfr will lose every time and get punitive damages, because juries will think that manufacturers are balancing profits against safety.  But in reality, it is consumers who will have to pay for the additional safety requirements.  So the real balance is cost to consumers vs. cost to consumers.  Potter characterizes the test from the perspective of the consumer, by balancing additional safety for the consumer against additional expense to the consumer.  

*So: The best test is a RU test, but characterized as Potter does from a CE angle - i.e. “What would an ideally informed consumer expect from this product.”  If you characterized the test from the manufacturer’s angle, the manufacturer would lose every time.  

Courts will be extremely hesitant to find a whole product line to fail the RU test.  To do so would be to subject the manufacturer to punitive damages.  So people bring claims involving modifications of product lines, not bannings.  

Consumers are pretty well placed to make choices between product lines.  

The Duty to Warn

Most cases today are about warning labels.  

MacDonald v. Ortho Pharmadeutical Corp.(1985):  P takes birth control pills bearing a warning of possible side-effects of blood clotting in brain, and has stroke.  P claims she wouldn’t have used pills if she knew of risk of stroke.  Drug manufacturer Ds generally have no duty to warn consumers directly of dangers inherent in use of prescribed medicine, but only to warn a responsible intermediary (i.e. the prescribing physician); however given the heightened need for direct-to-consumer warnings for the pill because of other available methods of birth control, infrequent doctor visits, and FDA requts, D did have a duty to inform consumers directly, and the jury found that the warning was insufficient.

Vassallo v. Baxter Healthcare Group (1998):  Silicone implants leak.  Ds knew that difficult-to-detect leaks would lead to long exposure to silicone.  Requirements for demonstrating breach of implied warranty are now changed to the 2nd and 3rd Restatements’  “state of the art at the time of manufacture given due testing” standard from the old “state of the art at the time of the trial” standard, which amounted to strict liability.

Plaintiff’s Conduct

Daly v. General Motors Corp.(1978):  Speeding(?) driver thrown from locked car due to lock defect and killed in crash.  The principles of comparative negligence from Li v. Yellow Cab apply to actions founded on strict products liability.  (3rd Restatement follows Daly.)  

15. Misrepresentation

These claims are for pecuniary damages only, not physical or property damage.  The relation to contracts comes up here.  

Fraud

Rest 2nd 525: One who fraudulently makes (1) a misrepresentation of fact, opinion, intention or law for (2) the purpose of inducing another to act or to refrain from action in reliance upon it, is subject to liability to the other in deceit for pecuniary loss caused to him by his (3) justifiable reliance upon the misrepresentation.  

Pasley v. Freeman (1789):  D knowingly gives P a false credit reference about A for no real reason.  V to P for the value of the goods delivered to A; collusion or conspiracy are not necessary to make out an action for deceit - only malice.  

There must be knowledge plus intent, and reliance.  

The justifiable reliance must be on a statement which is material to the decision made based on it.  

You don’t have to lie about a “fact” narrowly construed.  If your lie is about your intention or belief, or your degree of certainty that is still a misrepresentation.  You’re still lying about something in making such statements.  There’s no useful fact/opinion distinction.  

Good Faith Negligent Misrepresentation is usually OK, but see below.  

Salesmen are allowed to “Puff” - make statements of hype that promote their products that a reasonable person wouldn’t believe.  

No justifiable reliance here.  And, there’s no intent to make you believe the statements.  

But there are also “factual statements within the peculiar knowledge of the seller,” on which justifiable reliance could be made.  

If there’s an inequality between buyer and seller where one relies on the other, matters are different, because the normal expectations of the transaction are different.  

*So P must say: D’s statement was (1) an implied statement of fact, or (2) a statement where P reasonably relied on his special relationship to D.  

Nondisclosure of latent defects

A termitey house seller in a termitey area is allowed not to bring up negative attributes: this is like reverse puffing.  There’s only misrepresentation if what’s going on can be construed as (1) or (2).  ((1) would be the case if seller put up a concealing panel.)  If termites are common, it is up to the buyer to look for them.  The custom there will be to fend for yourself - the buyer ought to always think that there might be termites, so the puffing exception comes in.  There will be no reliance on the lack of disclosure.  If they are not, as in Mass., their presence must be disclosed, because there is no custom that buyers ought to know to look for them.    

2nd Rest: “Facts basic to the transaction” must be disclosed if P knows (1) that the other is about to enter into it under a mistake as to them, and (2) that the other because of (a) the relationship between them, (b) the customs of the trade, or (c) other objective circumstances, would reasonably expect disclosure.”  

If there were a serious flaw in the product that is not easily observed, it must be disclosed: (c).  

A Stradivarius at a garage sale could fall under (b).  

War of 1812 tobacco case.  Buyer didn’t divulge information when asked, though he didn’t lie.  Here the buyer has better information.  Latent virtues are treated differently from latent defects.

Seller has an informational advantage of inspection, so seller shouldn’t have to give up his edge.  

Also, the whole market runs on the premise that the buyer can get a good deal, otherwise buyer wouldn’t ever buy.  

It is a net gain to society that people try to gain information about products, and profit by selling them where demad for them is greatest.

Without the prospect of profit, this information would not be obtained.  

Contrast:  There will be no bad incentives on the creation of information if the seller is required to divulge his termite information.  

This is the same as with insider trading.  

Materiality and the Objective/Subjective standard

The false statements, even if intentional, must be material to the decision P made for liability.  

The starting point is an objective standard for whether a reasonable person would have relied on the false information provided; then subjective facts known to D about P’s state of mind are added in.  If D knew that P was really gullible, then the information provided was known likely to be material, so the standard should become “reasonable for a gullible person.”  

In Pasley, D was a misrepresenting third party advisor to the business transaction.  In Local 17, P is health care funder to smokers who suffered from a misrepresenting D.  There is a duty here (fund was foreseeably harmed),  breach, and cause (both directness and foreseeability jurisdictions allow foreseeable causes as proximate causes), and injury.  

Negligent Misrepresentation

Intentional torts Ds should be worse-off than non-intentional ones.  

For one thing, proximate cause is applied more liberally with intentional torts.  

A brokerage firm could easily be crushed if it could be held by anyone who depended on its N assessment of a company.  

Ultramares Corp. v. Touche:   D/auditor negligently produces incorrect accounting statements of Stern’s accounts, which P relies on them in giving Stern bad loans.  It would be a heavy burden on accountants if they were liable to an open-ended class of potential creditors who relied to their detriment on the statements.  The service provided by accountants is primarily intended to benefit their clients, not the client’s creditors.  To hold Ds liable would be to equate intentional with negligent breach.  N speech is evidence of fraud/intentionally misrepresentation, but is not actionable in itself.  It is only actionable if it is so N that the accountants themselves don’t really believe their statements.  It’s an open question whether in this case the accountants believed their own statements.(Note: this is the leading common-law decision on liability for negligent misrepresentation.)

So D is liable to their clients for N, and to others if they are reckless, since then they would have lied.  Third parties could always get their own audit done, or make separate arangements with D/auditor for a guarantee.  There is no duty here.

This connects with the general principle that tort is for personal or property damages, and contract is for merely pecuniary damages:

If you want your widget guaranteed because its breaking would lead to huge profit losses, then you can contract for it.  That way the costs go to you, not to all widget buyers.  

If you depend on the audit information, then contract with the auditor to ensure that that information is accurate.  

[Do auditors derive any benefit from putting their information out in the stream of commerce?:]

(2nd) Rest 552: Liability for negligent misrepresentation is limited to persons who are members “of a limited group of persons for whose benefit and guidance” the information is supplied, provided that there is reliance on that information in that transaction, or “in a substantially similar transaction.”  (CO - Who counts as “members of a limited group of people for whose benefit and guidance the info is supplied” has alternately been construed as (1) including and (2) not including third party lendors who rely on the negligent misrepresentation.)

Damages

- Motive is irrelevant for intentional torts, but good faith prevents punitive damages.

Geistfeld’s Grand Theory of Torts

B<2PL is better than B<PL, at least for personal injury cases, because it respects the fact that personal security interests are more important than financial interests.  

